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2 526149.72 2221692.61 
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<7<5D5=<= (>?D545?5=<=), 0.10 
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3 526193.75 2221698.63 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 526194.33 2221693.19 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

5 526198.31 2221693.61 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 
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�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

7 526151.53 2221696.89 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

8 526149.83 2221699.03 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 526145.70 2221695.75 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

5. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, 
�EF>6E><= <G=<F<?4?L=O= D4=>=, 7>D>4E>>5 ?>E5?5=<5 7>D>4 �EF>6>, 7>D>4 
�EF>6>, <>D. �D5EF<6=O=, �??5O &65F>6, 4. 6 � (�-3-0477�/2022/��/��)», 
=47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, ?D>FO65==>EFL: 16 <, 44D5E: 
$>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL, �EF>6E><= <G=<F<?4?L=O= 
D4=>=, �>D>4E>>5 �>E5?5=<5 �>D>4 �EF>6>, �>D>4 �EF>6>, <>D. �D5EF<6=O=, 
�??5O &65F>6,4.6� (>444EFD>6O= =><5D 52:26:0070033:743)  

 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < 
�5F>4 >?D545?5=<O >>>D4<=4F < 

ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 508952.78 2232322.10 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 508970.83 2232312.03 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 508972.78 2232315.52 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 508954.72 2232325.59 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 508952.78 2232322.10 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

6. «�>475<=O=, =4475<=O= 747>?D>6>4 446?5=<5< 4> 0,3 ��4 >F F>G>< 
?D<E>54<=5=<O > D4E?D545?<F5?L=><G 747>?D>6>4G 4> >5N5>F4 ?> 44D5EG: 
�<657>D>4E>4O >5?4EFL, �EF>6E><= D-=, 4. �?4?<E4, �D><7>=4, ?><5M5=<5 7 



4 

 

1� (�-3-0338�-%)», =47=4G5=<5: �>475<=O=, =4475<=O= 747>?D>6>4 
446?5=<5< 4> 0,3 ��4 >F F>G>< ?D<E>54<=5=<O > D4E?D545?<F5?L=><G 
747>?D>6>4G 4> >5N5>F4 ?> 44D5EG, ?D>FO65==>EFL: 65 <, 44D5E: $>EE<=E>4O 
$545D4F<O, �<657>D>4E>4O >5?., �EF>6E><= D-=, 4. �?4?<E4, F5D. �D><7>=4, 
?><5M5=<5 7 1� (>444EFD>6O= =><5D 52:26:0000000:6843)  

 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < 
�5F>4 >?D545?5=<O >>>D4<=4F < 

ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 515451.89 2224108.38 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 515454.84 2224111.09 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 515452.40 2224113.75 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 515407.64 2224131.54 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

5 515396.95 2224121.63 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

6 515399.67 2224118.69 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

7 515408.51 2224126.89 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

8 515450.07 2224110.37 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 515451.89 2224108.38 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

7. «�>475<=O= 747>?D>6>4 446?5=<5< 4> 0,005 ��4 >F F>G>< 
?D<E>54<=5=<O > D4E?D545?<F5?L=><G 747>?D>6>4G 4> >5N5>F4 ?> 44D5EG: 
�<657>D>4E>4O >5?4EFL, �EF>6E><= D4=>=, 4. �?4?<E4, >44. 
52:26:0030020:1733 (�-3-6175�/�-�)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 
446?5=<O, ?D>FO65==>EFL: 3 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O 
>5?4EFL, �EF>6E><= D-=, 4 �?4?<E4, >44. 52:26:0030020:1733 (>444EFD>6O= 
=><5D 52:26:0030020:1784)  
 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F < 
ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 516223.20 2223335.16 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 516220.40 2223336.86 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 516217.38 2223338.71 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 
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4 516215.29 2223335.30 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

5 516218.32 2223333.44 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

6 516221.12 2223331.74 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 516223.20 2223335.16 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

8. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, 
�EF>6E><= D4=>=, 45D56=O '5G5=<=>, G?. �G7>64O, GG. 26 (�-3-

1387�/2022/��/��)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, 

?D>FO65==>EFL: 3 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL, 
�EF>6E><= D-=, 4. '5G5=<=>, G?. �G7>64O, GG. 26 (>444EFD>6O= =><5D 
52:26:0100015:2295)  

 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F < 
ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 497439.98 2254896.97 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 497446.96 2254897.77 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 497446.49 2254901.74 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 497439.53 2254900.94 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 497439.98 2254896.97 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 
 

_______________ 

 



 

�$�������� 3 

> ?D<>47G <<=<EF5DEF64 

7D44>EFD><F5?L=>= 45OF5?L=>EF< 

< D476<F<O 47?><5D4F<= 

�<657>D>4E>>= >5?4EF< 

                     >F  
 

%>EF46 EGM5EF6GNM<E 747>D4E?D545?<F5?L=OE E5F5=, D4E?>?>65==OE 6 �EF>6E>>< <G=<F<?4?L=>< >>DG75 
�<657>D>4E>>= >5?4EF< 

 

7 ?/? 
�4<<5=>64=<5, =47=4G5=<5, 

>E=>6=4O E4D4>F5D<EF<>4 >5N5>F4 
�4D5E 

�444EFD>6O= =><5D 
>5N5>F4 

%>EF46 E5F<, 
<4F5D<4? FDG5 

'EF4=46?<645FEO 
>ED4==4O 7>=4 

1 

«�47>?D>6>4-66>4 > 6<?><G 4><G ?> 
44D5EG: �<657>D>4E>4O >5?4EFL, 

�EF>6E><= D4=>=, 4. '47?464, 

 G?. �>64O, GG. 31/2� 

 (�-3-1031�/2022/��/��)», 
=47=4G5=<5: �47>?D>6>4 =<7>>7> 
446?5=<O, ?D>FO65==>EFL: 152 < 

$>EE<=E>4O 
$545D4F<O, 

�<657>D>4E>4O 
>5?4EFL,  

�EF>6E><= D-=,  
4. '47?464, G?. �>64O, 

GG. 31/2� 

52:26:0050037:1508 

�4DG6=O= 
747>?D>6>4 =<7>>7> 

446?5=<O 
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